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Yov ccp oy Pee lotric e wnit cel)
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CNU\\/\/\\DCV 0f covwmeve X Comtvieution of atown o € ywer
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}\ Number of @ _tows pev amit el = Muwbey of cevwers

per uvit cell X contriautigw bu& tovvier atowm< towarde uwit cll
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Nuwvey o T P atowg pev uvi €t el = Nuwber of Ioadl?f
cavwive e per uvit el x Comtviloutiow la?]' bOA\T cevitva
ctome towavdse uwmit cell = ( x 1= |
Vewce €ovmula of compouvid i< Pa

) Atowm ot Kood‘& centve T4 currouuded 6*?[ € <oyrwner
o ows  aud atow of covver s <urvouvded hL,a_ 4 laoda

cewt v e atows . TWVULS oovdiviaTiovw wuwber o"( P and @
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Questiow

Feyvi c oxid< cnﬁs‘f‘o‘\\ises ivi oo V\exo\?[ovla\ close- packed
ayvas of oxide iows witu two out ot evevy ihvea
ockaviedral Woleg OQCUPiQJ b?f ﬁtmc lovg . t%Qrive the
Lovwula o f  fervic oxide.
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Nuwmibey of octeaWedya) voide = Mumber of alows 1v unit
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